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SECTION—I : MATHEMATICS

1. The perimeter of the quadrilateral ABCD formed by A(-3, 1), B(0, 5), C(4, 8), D|1, 4) taken in
that order is

A(-3, 1), B(O, 5), C(4, 8), D(1, 4) waﬁ:ﬁlguﬁ‘bﬁjmdéﬁhuﬂnﬁﬂﬂﬂ s Soensosd

(1) 1642 (2) 25 (3) 20 (4 10

Which of the following combinations of sides and/or angles cannot form a right-angled
triangle?

& Bos adgpds 36" peives’ 50 dor FPnived* 50 von o Bgeind J6,850 Sodew

(1) 17,8, 15 (2) 1, J2, 45° (3) 42°, 48°, 5 (4) None

. In a trapezium ABCD AB | | CD, the diagonals AC and BD intersect at ‘P If AB: CD = 2: 1,
then area of ACPD: area of AAPB =

ABCD \8%2ch$:é* AB | | CD 28ain AC, BD égen. ‘P'3g 9olo S, AB: CD = 21 sand
ACPD . AAFB \8the 33 oo 24,8

(1) 1:4 (2 2:1 (3 1:2 ) 411
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4.

Q is a point on the line BD dividing the segment internally, AB, PQ and CD are drawn
perpendicular to BD. If AB= a, PQ= b and CD = ¢, then

BD oM Seny B poddn s Q37 wostiur Jtfdod DothP AB, PO 2Bdix CD e BD % wonor Ab3 566
Bpew AB = a, PQ = b 28aln CD = ceoand

) a b ¢ ) a ¢ b
gy ihcdiglh a Letud
) a b ¢ (4) b ¢ a

An equilateral triangle ABC is such that the side BC is parallel to X-axis. Then the slopes of
its sides AB, BC, CA respectively are

AABC 3erdvBthniné’ thein BC X-ofsinsh Sirestiom H$H8. vows AB, BC, CA delos Sus,
Trenen HHOH™

1y JfS0,-J8 2 3,43, 3 (3 1,0 -1 4) J3,0,V3

The diagonals of a quadrilateral ABCD intersect at a point O such that AO. DO = 5C. CO
Then the quadrilateral is definitely a

ABCDabd:banansgmunAO. DO = BO. Co.ucﬂ:aaﬁon-Oiigm&a:?oﬂu%m a3oze
s

(1) rhombus (2) parallelogram (3) trapezium (4)

rectangle
oron® RrosS IBEYO (B3aanbo

0 Sadgo

A man is standing between two lamp posts on a horizontal line dividing the distance between
them in the ratio 1: 2. The height of man is 2 m. It is noticed that shadow of the man with

respect to first lamp post just touches the foot of second lamp post. If the distance between
the posts is 30 m, find the height of the first post.

2 ot D) o 8 DDA Bod 83 Foudne IndedH L BpD 1:2 33)§4" dgdoy dgom Jondan.

o, 6 HHADE 2EA A3 Foohn G ; IrHIHD 08 Bod 83 Jouin Wbt B HECA. »lod ASjondve
6660 30 Doksrh sond ndd 83 Jowdn X&)
(1) 6m (2)

5m (3) 4m (%) Im

A tangent is drawn from an external point P to a circle of 8 cm radius. If the length of the
tangent is 15 cm then the distance between the centre of the circle and point P ia

8 2o Typrgdu flo 3ol P e oriry Doty ol 3 Swen Aabedad. g e e 15 Sod.sand =S
§ o550 208 P O 0 drsasn

(1) 23cm (2) 20ecm (3) 17cm (4 Cannot be determined
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9. ABis a chord of circle subtending an angle 90° at the center O of the circle. If the radius of
the circle 1s 6 cm, the area of the minor segment is

28 3F206'Y AB ey ToiSin 38 3ok §0 90°. & 3yg TAngin 6 Do.2. o vey 5§ vod ITegEn

M 22 em’ @ 144cm® (3 E—E’Ecm* (4) 7 em?

10, Two concentric circles of radii 12 cm and 5 cm are drawn, A chord of bigger circle becomes
a tangent of the smaller circle, Then the length of this chord is

12 %0.%. 8ain 5 Do.2. Tgnginenm EDAS ot DY dos yginen SoP. DB6" b 3o Ang) 1.8 & BodS
e 58 sond w ey 2dYP

(1) 26 cm (2) 17 em (3) 13cm (4) 7ecm

11. A square of side 7 cm encloses a circle touching all its four sides. Then the area enclosed
between the square and the circle is

7 0.2, ghew fio w8 JH5|50 Eoof) Trenrh gheEreid sosdium B el Fin Sob. sans mdodot Dd;

Ny BTy
(1) 21cm’ (2) 15cm’ 137 (7-n)em? (4) 10.5cm?

12. The diameter of a sphere is equal to the height of the cone of equal volume. If rand R are the
radii of cone and sphere respectively, then r* = A b
w8 R HBcin FopHe 1 S0drmiven SErSin, £ yHio fopd JHTDO SIS, r, R o JOI™ Joard
DBain Fove Tgngiveand, r’ = 229,
1) 28 _2f —‘Z—i (3 4R? @) R? bocia

i
13. A solid sphere of diameter 18 cm is melted and is recast into small identical cones of rlmjgh;
6 cm and radius of 6 cm. The number of cones formed is
18 Do, Fvgddure e 008 £dfod 6 0.2, 383 HBcttn 6 0.2, TAEED e JopPHeom 1IY DA
Toxpo Sog)y
1) 24 (2) 32 (3) 12 (4) 18

From log of dimensions 6 cm, 8cm, 10 cm, a right circular cone and cvlinder of
same aha‘:cmjii;:ér 6 cm and equal height 7 cm are formed. The quantity of wood lost in

this process is
630.8., 8 Do.2., 10 202, Fodey o es Faby offB08 6 80,2, T30 18 28 7 30.., o 8 150
wmmww.mzﬁd‘qumnmm e

1%} i
(1) 226 cc (2) 250 cc (3] 175¢cc (4] 300 cc

fa4

=

1*-
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15.

16.

17.

18.

19.

sin 30° sec 60° + cos 30°cosec60” _
sec 45° cot 45°cosec45°®

(1) 2 (2) 1

(3) J3 4) J6

BC is a tower, B is its base. Ais a pointon a horizontal line passing through B, the angle of
elevation of C from A is 60°. From another point D on AB, the angle of elevation is found to be
30°, then BD =

B 3o Ko gonisn BC. B oo b e.£:36¢ 39 s A o Dothd 903 Cding) feg s §'0in 60°. AB 8
Dts 108 1.8 Doty D ol C Gs) 8 §'ritn 30° @and BD =

1 1
(1) 2AB @ 5AB (3) 3AB 4 4B
If A, B and c are angles in a triangle then
{222V anC st 22 ) {24 an -

2 2 2 2 ) 2
ECWHLW#E‘WHMtaﬂ[ﬂzﬂ]tang+tm(ﬂéc]tanﬂ+tan(cgﬁjtan§=
(1) © (2) 1 (3} 2 (4) 3
The value of (1+cos x)(1 +cot® x)(1 - cos x) =
(1 -1 (2) 1 (3) cosx (4] sinx
J1+sinH+J1-sinH -

1-sin® V1+sin®
(1) 2sech

(2) secB+tan®o
(3) cosd- cot® "4] 2tan®

The length, breadth and height of a room

. are 10 m, d 10 spectively.
angle of elevation of a top corner of ro 1042 m an m respectively. The
is

om from any point on a diagonal of the base of the room

w8 18 B dY, Ddbey DBl iy St 10 Ny, 1042 ., 10 b, sand & M86"0 grln 206 D 5§ Dodes od
B KA D oo Aok, Se < T

1) as° .
(1} 45 2) 60 (3 a3o* (4] None
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21, If cos* 0 -sin* 0 - ;i- then g =

-

; |
cos' 0 -sin'0 = 5 ©ans (-

(1) 30 (2) 60° (3) 45° (4) None
22. A solution of 2cos” x-3cosx+1=0 is

2c08’ Xx-3cosx+1=0 gy s

(1) 45° (2) 60° (3) 30° (4) None

23. If a dice is thrown twice, then the number of sample events is
&5 DS Body A B"BouIm Dty ;IS 500 Bow
6 (2) 12 (3) 24 (4) 36

24, A circular area is marked on a rectan ' ;
: gular patch as a target for a certain game. A plaver :
decla.rc'd. winner if a ball thrown lands in the circular area. Then wha% is the P*ifxne::;;
probability for a participant given that the dimensions of rectangle are 2 m and 3 m while
the radius of circle is 0-5 m?

38500 KhHDoSod. &#a;gwams'wm 2 2. 58010 3 Do DBt Sy§Tngian 0.5 m.a‘gaam@s-aa
ob3006" S Aabuds. o8 smd podd & 3HTSEY Jood' JabABAS 6390 Jdam 33w, savd &
TR ::-au-aad

& =
'?_'" 'y -{; ~ ‘

1 11
i @ 33 @ 175 )

i

(1)

3. From a well-shuffled pack of cards, the probability of drawing a red-coloured uce is

mmﬁﬁuwmm&ummmm&mwwap

! i 1 "
@ 35 T “ 3 W g

£ |

(1)
S
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IJ ¥ E - - 1 :l{li ‘IFJ H |
. i 3 |JI-I [ I-}]uL pl.n- E-!L pt[
25 (nt hﬁx EDHI.EI'IIIS 4‘2 b u.e a"d 22 b ﬂ.':k EHS. .ﬂ. Studtﬂt 1;'-'1]“'.5: I” : 1 ] . i

1 atre
L€ 286 42 Doo dofl BBaiw 22 g Gorb Doy S0, es Dol Neo Borh DAy ESaedard). ol y
li‘_)!or: 8 Dy haiie o8 e dorb wandd. TR (D5 ‘b% CRls) &8 Ar

doa Hbaln a8 :m_,m alrd,
3ygorm B & D Deo Sord BibbiD RofiSd

21

1
L ¥ 3 @) 32 )

(3)

La| b2
oojon

Which of the following does not represent probability of an event?
B0t a3 TmE6" DB Sowrgsih Hr Do,

(1} O (2) 1 (3) 1-0001 (4) 0-99999
28. In a frequency table of interval size h, with usual notations, the relation between the actual
mean x.assumed mean a and the mean of deviations, d is
pron D88 30K SEzo¥in S6NB wostin h DBaky ©o8 DIV X, Selrod Hity @ bakn 30738
SduTen d &S Sogolin
(1} X=hd+a 2) X=d+ah
3) x= d+a (4) None
29. Thesetdefinedby A={neN/(l+ n?)< 50}, where Nis the set of natural numbers, then the
mean value of elements of A 1s
MMﬂMNMH el 502 A=(neN/(1+n?)<50) ™ AdeDoIIAN8. mand A &0 sureste
ot DSt 99 WYY 90 104
c
{1 1 (2) 6 3) 4 4 35
30.

An organization wants to find out the most popular TV serial and conducts ¢ ' i
measure of central tendency is preferred for the data? v eIvey. Wineh: S
e8303 T.V.08' 355, boahé 6" ovm @vinas 0803 BAEHEDH JoSSebnh Trd 3o fo18 Dens

(1] Mean 2 Mode (3} Median (4) None
“%m [ 7L ] :ﬂaﬁﬂn ol sy
T
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31. Forthe data 6,2, 9
i 11,3, &7 7713, ¥, which of the following is true?
mMaLgoaz-dﬁ'baaam}

(1} Median < Mean < Mode
580 < L0810 < oy |

(2) Mode < Mean « Median

PIVOEI) < wod 3
(3) Mean = Medi ’ -
e an < Mode (4] Meode = Median < Mean
&0 =
Do Degfdo < IvvLny DI = D Ko< w0t B S
| | [4
32. Following is data from a child-care center find the mode of data
o8 3838 Aoy nwdL,
Age Group 0-2 2-4 4-6 | 6-8 8-10 |
Number of children 5 7 3 2 2 e .
m 2 @ 7 ,{6( 2:67 4 35 =

3. lflog,256+log:‘81-lng;x:0. then x = ‘ 2

!0&2564-!03,81—103,x=0.ao:n5x=

1 (2) o (3) 64 4 512 —
%. The HCF and LCM of 48, 72 and 60 are %+ bl

48, 72, 60 & K35 DHBat €310 en IHFT

(1) 24, 144 (2) 12, 720 (3 720, 12 (4) 12, 144 a =

B. A composite number can be written as a product of prime numbers in

198 Socing Sogs s BomS Sderose egor 2 IgSvenr rabiein.

(1) a unique way (2) at least two ways
e Dgom DFoBody Igrenme x 3 -5
(3) any number of ways (4) None i r-
.).th:’qva;n-aa- V8 s 3 L e =
1 1 ¢ R
%. 2" =(0.2)" =100, then implies ;';= y
1 -
=(0. 2}"=100m:-‘&x i
2 K 1 1
oy NS @ 3 [4) log,, 2

. C  SPACE FOR ROUGH WORK / 083 ¥tranosnds s&v,
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37. If -75=9a+ b where 0 < b <9, a, bare unique integers, then b =

-75=9a+p, 0< b<9, a, b thEQj‘Q?mumﬂ.ﬁ =

(1) 3 (2) 4 (3) 5 . (4] 6
38. (A-Bju(B-A)= MY \
_,m/AuE 2) AnB (3) ¢ (4) (AuB)-AnB

39. If Ais the set formed by the letters of the word '‘POSSESSIVENESS’ then n(A) =

POSSESSIVENESS' & esoff 56506 egssnes’ 16,33 508 A wans n (4) =

(1 7 (2} 6 (3) 8 (4) 5

n(A)=8, n(B)=9, n(A~ B)=6 where A and B are two sets, then nfAu B) =

n(A)=8, n(B)=9, n(An B) =6 won$ n(AuU B) =

(1 17 (@ 12 @) 11 —_
41. How many subsets the set P = {a, e, i, 0, u} will have?
Y s
P={a, e, i, 0, u} o300 Ens Ingin 435 3Dde 2 R T )
(1) 4 2) 16 (3) 8 e

42, If -1, -2 are two zeros of a polynomial 2x" +ax® + bx -2, then (a, b) =

2x” +ax® + bx — 2 wdv6 dws) Bod Wravyen -1, -2 ey wand (a, b) =

(1) (1,2 (2) (5, 1) (3]

(3, 2) 4 (2.-1
43, Thl:mntanf?_:g:_—3=3 are
]
2:-3- =3 :ﬂnlt,ﬁn‘ﬂ-m
x
af %=i 2 2,1 -, -1
o ) A 4 3 (4) None
SPACE FOR ROUGH WORK /386 taranoSols shex,,

v_:."_f w3 %

-
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-
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44. ﬁ.t+-.5y:2ﬁ; &x-—ﬁy=3ﬁ

imp!ies X=, y =

Vx+\2y =23; V2x- By =33 ADEEere Pg3es x =, y =

1 1,2
(2 Ve, -1 3) 21

54 s’g:’mm e ey wdoeghstn thestoe ;;,wﬁ L
(1) 27 (2) 108

E...

If the height of the ball k f
. Tom ground at any point of time t is g = .
time taken by the ball to reach the ground is SR 2SI a The

25 bt I3 e G533 08 08I 15 By /185 Hss® LERL DB, 08 g, ety BB
h”ﬂma‘l=25+1m-3ﬁ ma!sm.mﬂﬁmmwﬁﬂiﬂmamm 3@0%

(1) 15 sec (2) 10 sec (3) 5 sec (4) 5/3 sec
Y. If the solutions of ax+by =2 and bx+y =5 are 4, 6 then g = B
Ax + by = 2 8cin bx+ Yy =5 odEIew 4, 6 wavsa = il EH -
by + I8 =5
. Which of the following is a quadratic equation?
ﬁmm#&m.ﬁ'ﬂﬂ.
) 2 —dx® - xs1=(x-2) (2) x*-2x=(-x)(3-x)
B (x-2)e+1)=(x-1)(x+3) (4) None
\__
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49. flx)= 5x' -0x° -3 +11x- 18 is diided by (A 2) then the remainder 1s
flx)= 8x* -9x® -3x° +11x- 18 A (v -3) & wrfiodr mb‘M\J

1 0 @ -7 @ 7 () 1

50. If the difference of reciprocals of ages of a boy three years ago and five yvears from now is

then the present age of the boy in years is
L erend Ao At 3 dosgyre B0 iain a3 e 5ao:a3wawamoaus;pd‘ammq CES
% man S8 wrend S
(1) 8 2) 6 (3) 4 4 9
51. Sum of the squares of two consecutive even positive integers is 340. The numbers are

mmmmoqomgmsm saD & HoPpen

(1) 10,12 @ 12,16 (3) 14,16 12, 14

52. The pair of equations 2y +3y =5 and 6x+ky =12 has no solution if k =
2x+3y=5:ﬂdn6x+ky=12mmmdn&dck-
() 3 @ 6 ~<g Of 9 @ 12

"o A e
§3. The roots of a quadratic equation are irrational. Then 1r: : -

t (e 10
1€ 3g3tusee ureren S58aD Sowye sov8 I ,
(1) discriminant > 0 (2) diseriminant < 0 | ° 3 a8 =
:? %1
4\}: 2344 >0 235 <0
‘:’ _ (3) discriminant is a perfect square (4) discriminant is not a perfect square
N 234A g0 ssgdengagore )
L,“b F S, SPACE FOR ROUGH WORK /38;% firavoded @da
&
- \y/ . pl‘. W
"‘.xw -b‘-g PR wy Vb - = S !
£ e A6 | o laa) » 1o
s \ '}_ 1% : "\V’ + (tn) =
bt 4§ LRI

N .
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54. In the series 112, 109, 106, 103, ...., which term is the first negative term?
112, 109, 106, 103 ...... @#36" 25650 M e 5 3840 0 Hised

(1) 40th (2) 38th (3) 36th (4) 32nd

§5. In an AP the 5th term is 24 and 12th term is 94, then the sum of first 20 terms is
mof 344" 53 385w 24 HBatn 123 3430 94 wand & eof 386 2nddd 20 Iove Angin
(1) 174 (2) 200 {3) 1350 (4) 1580

§6. If the first term of a GP is 486 and the common ratio is (1/3], the tenth term is

e 38 2oded 3850 486 Batn Aiird; A8 1/3 wowd 10 33650 - d

(1) 2/243 2 1/243 (3) 2/83 (4 1/729 ypp. L

e £
57. If the points A(S, 3), B(8, 5), Clx, y) and D(7, 2) are consecutive vertices of a parallelogram
then (x, y)=
A5, 3), B(8, 5), C|x, y) L8ain D(7, 2) mmwwm@mﬂ (x, y) =
(1) (4,0 (2) (4,4 (3) (10, 4) (4 (4.3) _
('J.L“.IL T4

-
$8. The points Ala, 2), B(3, 1), Cl-1, 3) do not form a triangle if a = Land =
T
a @5 w3 Afa, 2), BE, 1), Cl-1, 3) e Bn bzeid D659 i B8
(1) 2 (2) 3 (3) -2 (4 1 4 = =10
o Y e

59. The midpoint of line segment joining (x, -y) and (-7, 5) is (4, 6. Then x =, y = a =

(x, - y) 2Baho (-7, 5) DotbHoD Sy By podin 26 Dodksp (4, 6) Lawsx =, y = . __;{;?

) (-3/2,11/2) ¥ (15, -7) (3) (11, 1) 4 15,71 T ' %

X, oAt h “I‘B

60. The area of the triangle formed by (-1, 2), (2, -1) and (0, 0] is c.m1 "

(-1, 2), (2, - 1) HBaio (0, O] &8 6 Bgbs J7yo,dn e S

(1) o (2 3 3 1 (4) 3/2 45
e

SPACE FOR ROUGH WORK / 080 furavodnds 384y
ﬂ-*ﬁ'“d - I "
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SECTION—II : PHYSICS

61. The refractive index of glass with respect to air is 2. The critical angle at their interface is
™D Stor e 58933 Hrso 2. wand 308) 5o

(1} 30° (2) 45° (3] 60° (4) 90°
62. Which among the following materials has higher refractive index?
Bod &3 86" I8 3|83 roeso LDRIB.
[/H' Diamond (2) Kerosene (3) Canada balsam (4] Air
Eiimﬁ 2500 335G mreyo g
63. On which of the following factors does the focal length of lens depend?
o Tdé" sy AErgodto 3;&3:-_ M ES S ded
(1) Size of the object (2) Power of the light source
3%y 383, m0 0B e3¢ 3E s
(3] Wavelength of the light (4) Surrounding medium
08 880134 50 38558 airisgo
64. A convex lens forms a virtual image when the object is placed between focus and optic
centre. The size of the image as compared to the object is
39 T Db DotoP H8ain &F Soio iy A0IIHE Logrsde Lh¥o M (3HDowr) I ded. eBd
26yc (38 Don I8 31 363re0s’ 2408
(1) same size (2) smaller (3) larger (4) None of these
ed SBareo 04,8 288 DT
65. A lens having two spherical surfaces, curved inwards, is called
Bod Ffevsed deren 6°30 DD Jofl &3, Safo
(1] concavo-convex (2) plano-convex
DUrsE-Dogrsd Addo-Dogd
(3) biconvex (4] biconcave
B Hogrs™d Bsoerss
66. When an object is placed at distance of Scm from a humgn eve, the
distance of

image is formed a

e 3P Sr3pa fod ol 5 Dol WMW-%&LMMM
(1) 225¢cm (2)

2'5em
2.25 mo.. 2.5 Body,
13) 1em ¥ Cannot form a ¢leqr vision
1 Dot A3 13000vo %ﬁﬁ.}
SPACE FOR ROUGH WORK IWWM t
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67. Dick the correct anawer (rom the Iulluwim: lwiy nlnlermenis ¢
e RofarRine Mol DOELS Sarpeso dodl A 'old
() Myopia is also called near siphtednenn,
[D'Fasd.ﬂﬁ'ﬁﬁ el e ) ﬂ'hnﬂ Ao .‘\h':":nn- el ety
() Hypermetropin is also called far alghtedness,

QGeAE N0 Heam drdd SBed 3 tom Srdied)

(1) Only (a) is true (2} Only (b) is true
(1) Ay et (1) S8 Desitas

(3} Both (a) and (b) are true (1) Both (a) and (b} are lalse
(a)a(b) Body Devé (a)fe(b) Bodr &2,,4

68. If i, and i, are the angle of incidence and angle of emergence respectively, then at the angle
of mmmimum deviation

i, 2Baly {;, I/ 3BT o HBA wirdi B'no sanld 1210368 no 3¢
(1) § =i, (2) i, =2i, (3) 2§, =i, (4) i =

69. The sun does not appear red during noon hours. Because
Dogrgan 806" Aty JB SInd. Jobsdn
(1) all colours reach our eyc without much scattering
), 508 dofben 38E3r0 Dodhoc goe30 dboran
(2) all colours get scattered on reaching the eye

u@rwamammmm

(3) red colour only gets scattered
oot sob Sr@d 36f5ne Jotiiod

(4) red colour only does not scatler

Mot sob e 304360 Dol

70, The sum of two resislors is 6 {1 and their equivalent resistance when connected in parallel

i 1.5 £2. The product of the two resistances is
EP 6 0 mmm‘wummmwmwmmwh 1-5 ¢y, mand

Hhﬂ:au'wugan
1 an (2) 20 (3 750 {4 450

-‘-."-I——
SPACE FOR ROUGH WORK / 0836 faranodnd @éen
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i

0.l
20
0 erd)
2 frenody

(1) 30 (2) av (1) 3 (4) 3 W

72. ‘The relation between the potential difference and current is established by the scentis

arabrd By BiBatn Dy b @ irnl gy flo Somorei, HarboDs 1Y

(1) Ampere (2) Oecruted (3) Kirchhaolfl (4} ©hm

esoudil earinsl :.,‘}.5 Efrdﬁ L5

73. Pick the correct answer from the following two statements :

74. The resistance of a wire of length 1 m and croas-sectional area | mm? i 1 ©1. The

75. A charge of 6 C is flowing through @ point in a circuit for

6 (208 Bodh 0% e 0l HBALS Adrgrio Jobt 358 04
(a)

Kirchhofl's junction law is based on conservation of charge.
Bory D m0ip Dabiio edare Dis, 8.0 853000
(B)

Kirchhofl's loop law is based on conservation of energy.
Romy9 erD Danibo 1§ D0 857307300

(1) Only (a) is true (2) Only (b) is true

(a) Someds Do (b) S Dt

(3) Both (a) and (b) are true

(4) Both (a) and (b) are false
(a) & (b) Bodr Derd

(a) & (b) Eud.rﬁ;b,a

specific
resistance in

1 3, dnciip SsBatias 1 80,0 Sogiy 6 Dreyo BOAS e B D60 | L5, & B4 D306 S

(1) 10-m (2) 10" f2-m (3} 107 @ -m 4 01¢-m

2 minutes, Th :
circuit in ¢ current in the

6 C deyorBdo i Soassod sl Docsd 08 20§ Do 2 Dutred atidiyon,

e Jeoinoest
(1) 3A 2) BA (3) 0:05A . - B30y Dy d
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76.

Which of the following pair of devices measure the same physical quantity?

08 T8&" e8 B ED o5 D8 A3AFRSES mot Anesaren

(1) Ammeter, voltmeter (2] Ammeter, galvanometer

e;ﬁ:duda. 5“!2 ko oy o, e Db
(3] Galvanometer, voltmeter (4) Ammeter, battery
rogE W, 56 D ey th, ol

Generally, right-hand rule is used when the velocity and magnetic field are

Aprdnom, HA 38 e, 3o BBt oabAmpd {8 LIS e 0 846 s T L,

(1) independent of each other (2) at 45° to each other
e5ED 2B S e asaas, 38560 45° §'no0 43,3,
(3] parallel to each other (4) perpendicular to each other
LS RETSS Baroddor &S, 367500 vowor™ ddh S,
Lenz law gives
dod Dabio A2 30aHENS
(1] magnitude of induced EMF (2) direction of the induced current
>8s M}ahbus weo dws) 38T, (588 Deio S B9
(3) strength of the magnetic field (4) magnetic force acting on moving charge
eabdmod 518 o) Shendod) eddod 303ain eacives verdy
A force exerted on a 3 m long conductor having a current of 2 A in 04 T magnetic induction

with an angle of 30" is
3 %, a3y fe e o Ho& Lna:rom:mié! wondh, 82004 mﬂk&nnuwtnwsc: daw
40039 393abn podv

(1) 12N (2) 12N (3) 72N (4) 24N
Which among the following does not involve the principle of electromagnetic mduction?
208 &' Dby BabApd (DEED eErddans

(1) Electric motor (2) Electric generator
e

ek Sarel D § m3dudd
(3) Electric geyser (4) Induction stove
ec
Dty 6 A8 =oagd3d
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Bl. A temperature of ~273 “%C in Kelvin scale is

595-5 Ardod® -273°C wdend
(1) =273 K (2} 273K (3) OK (4) 273K

82. Which among the following statements on temperature is false?

A ITHDO Sowofod v Bod i st DT 3y, 7
(1] 1t determines the direction of heat flow

(4]
A &3 Do B4 Dn;ﬂ:gnﬂ

(2) Itis a measure of thermal equilibrium
A EZIDE RO BDabINos

(3) 1Itis a measure of hotness or coldness
=8 dyddo B Sotiso Rpond BHahSeaivb

F
‘{;}] Heat flows from a body at low temperature to a body at high temperature
G0 03B ey A28 o S Sod RS &S o SHPHD (3208

83. Condensation is a change of phase from

Aro8smod’ wib R ardy

(1) liguid to solid () liquid to gas

(G0 Sood odo (B0 Dol Traivg
(3) solid to liquid (4] gas to liquid
ool B30 Traing ol iddo

84. If T, and T, are the temperatures of the hotter and colder water samples respectively .
the final temperature of their mixture, then il

T, ®8aio T, Sdam 38 DBabo Jod N ddiriden Hbatn Te 1D 808 agena sand

M T>717, (2) T>T,>1,

3 T>T>T, 4) T>Tsy

SPACE FOR ROUGH WORK /aayu0 8
raveSedy 3ada
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85. A clock shows 3 K i
r 5 min. When seen through a plane mirror, the time appears to be
e féairso 3
OIS D1 Srdi%ys 8. A0 e slise Gyea0 oo™ Srnas,d b Bilon 38arns
(1) 8 hr 55 min . ‘
8 Ko 55 3 SR (3) 9 hr 35 min (4) 6 hr 10 min
L 3 fon S A 9 ron 35 Au 6 fain 10 2u
86. The magnification of an object of height 1 m using a spherical mirror is 1°5. The size of the
image is
1.5 &350 SOAS 0.8 Sig8e 66,60 Tvddo rgor | 5. 36 DA 3790 Ardsnds 96 (38fon 38irno.
(1) 067 m (2) 1m {3) 1'5m (4) 25m
87. The type of mirrors used by Archimedes in burning ships is of
Ldeod dhedtubD Hﬁﬁﬂfb 85 Goyeren
(1) convex (2) concave (3) plane (4) None of these
DHooss Th gt Sibde A5
88. Which among the following is not a physical quantity? = %S
208 d&* FRLo N8 28 7
(1) Object distance (2] Image distance 8= 15
(3] Radius of curvature (4) Centre of curvature
89. When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved
in it is
Sook esde & SrPen Lendsd o eddaw. 828 sdalad AmEiy
50 SIDS0be BHE LranHEyEH 80D 2 .
(2) reflection
1) refraction oo
flection (4) scattering
(3) total internal refle .
L
the glass slab and ‘b’is the vertical shift of an object through it, then
90. If ‘a’is the u;ickrl;?i]’f_:;lm slab is
refractive index
awrnwumﬂwmmﬁmhm“"“i#m
LS rer B2y, Sodi B i
2 o === 5
my == o (o=t =
a+b
—_— e UGH WORK / 983 imanoSnds @iy
oL
a-b
117 f P-Taﬂ.
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SECTION—III : CHEMISTRY

91. According to Linus Pauling, the clectronegativity values are hased on

B35 Dol 350 QO OO I d L8 e erdon 28030,

(1) ionization energy (2) electron affinity

eabdsse 12 do S e

(3] Both (1) and (2) (4) bond energy

(1) S8t 2) wod 48

The orbital with highest penetration power is

(1) s 2] p (3 d 4 r

93. Mendeleeffs Periodic table is based gn

Dosbiesgesdy rSom Scirth Sabndos,

(1) atomic weight (2) atomic size
36 (S3,008 383 385rae

(3] atomic number (4) atomic volume

m-maoﬁ Ha:-m;ha:sa_-gm
94. Total number of elements in Newland's Penodic table jg
Argersol e3g3 3dss" o Jurose Sowy
(1) &4 (2) 48 A3l 56 [4) 65
95.

Element ‘A’ forms tripositive ion and el

cment ‘g* furrn
formula of the compound formed with

§ dinegatve ion. The *h
A ani B wil e chemicn

ey
ﬂim %amnmm;.%mdamuaﬁ%m
= (1] AB A2] A8, ) A i, 49) AR
MMMUBHWGHHIMM

POLYCET-2019/2-C 18
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96. ‘Sigma bong® 15 formed by

97.

ATy 8060 D8 6 S0

(1] end-end overlap

208 el3vig

(2) head-on overlap

do oo

(3] Both (1 ;
(1) and (2) (4) lateral overlap

(1) B8aty (2) S oholiuowrus

The shape of molecyle with 4 bond pairs and zero lone pair is

4 JeEa
2od JOEA mobien HBaty ) £obB JoES moben EDAS mrP dlos) 50

(1} tetrahedron (2) linear (3] pyramidal (4) trigonal planar
Sy Dobo 8Dabo 3808 B5* ety 330ge0

The bond angle in H,0 molecule is
H.O senpd* wog 'm0

(1) 180° (2) 120° (3) 107* a8 #7 104* ar

Match the following :

£d 38308,

fa) Haematite 2865 fil Hgs

fb) Cinnabar 3%e8 fi) Fe,0,

fe) Hornsilver 6 %esb fiti) Fe,O,
firy AgCl

(d) Magnetite 3rHOS

(1) iii. beiv, o= d-ii {21 m=w, b=, c=v, d-u
a-i, # s

ial a-1 b-iv l‘:‘"i d'u‘i {'Il a=il, b=, c=1v, -
¥ ¥ ?

—— o
SPACE FOR ROUGH WORK / 8810 fumonoseds plat
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100. Which of the following metals is least reactive?

=8;0y 3o S0 fo o

(1) Mg (2) Au (3] K (4) Fe

101. Heating of carbonate ore in absence of air is called

™0 8ocr S50 38 Sained JBd Sendnt 7

(1) calcination (2) roasting (3) smelting (4) refining
oy <600 e6i30 oo Lhsaro

102. Electronic configuration of C in its exited state is

48a286'C 0 IoES Jagiso
(1) 1s’2s’2pl2piap? (2) 1s'2s*2pi2p)2p!
(3) 1s'25°2p}2p'2p? —t4 1s*2s'2p! 2p! 2!

103. The first synthesized organic compound in laboratory is
mrm-ud‘:ng:mmmmsﬁam%m

(1) methane (2) wurea (3) acetic acid (4] ammonia
235 et Bt ubdfepo o2y datr
c a
104. The IUPAC name of CHJ_CH_':[:H_CHJ
c1 cq
CH;— CH— CH— CH, % [UPAC oo
/mf 2-chloro but-3-chloride (2) but-2,3-dichloride !
2-5'6" aryS-3-5%28 n!‘;ﬁ-ﬂd-ﬁ!:__ud
(3] 2, 3-dichlorobutane [4)  3-chlorg but-2-chloride
2.3-25'6" ory 85 3- 055" wry 25K
SPACE FOR ROUGH WORK ;aq‘,'ml S g
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105.

For extraction of highly reactive metal compounds from their ores, some impurities are
added during the electrolysis process. The role of impurity is

o858 3ov Jod e &' Sy e ravY Hod 5559, Soplrodisy,d o6b 36, § 0din B12abeE* £, LTed
EPHID. Joffodd O

(1) to give color to the ore (2) to increase the meiting point of ore
F&PH3 60O Ao PP Qw5 BDESS B3, Dodioron

(3) to increase weight of ore (4) to decrease the melting point of ore
TP Ang BHHD doberaw Fraxd AwsEDEIS 2D, A,

106. The organic compound with R—COO— R’ functional group is prepared from
R—CO0O—R* @hab Sdurdro SORS 56,3 53y 650 308 &g o D605 7
(1) RCOOH and R'OH (2) R'COOH and ROH
(3} RCHOand R'OH (4) R'CHO and ROH
107. The value of x in the following chemical reaction is
D3 adgpdI SRabI 366" xJend Jod 7
C,H, + x0, ——yCO, +zH,0
(1 4 (2) 3 (3 6 4) 5
108. Lead nitrate on reaction with potassium iodide gives yellow precipitate. The yellow color is
due to
aamaﬁwm,argss‘w;smmmm%m.mm
Pb(NO,), + 2KI——FDL, + KNO,
(1) Pb(NO,), (2) K (3) Pbl, (4) KNO,
109. One mole of H, gas contains how many molecules?
L ard H, Tandd’ dod oo Rony
(1) 6-023x10% (2) 2x6:023x10”
(3) 6.023x10™ (4) 6-023x10

SPACE FOR ROUGH WORK / 50 feravosnds @len
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o : : tion of
110. The tarnishing of silver spoon in presence of moisture 18 due to forma

Jo& Jord A’ 40D, oD ‘.:5_]4:. 3o ol srdmo

(1) AgO, 2) AgS (3) AgNO, (4) AgCl

111. Which of the following is an example for neutralization reaction?

208 & BLRE80 368 dorrén

(1) Base+ Salt—— Acid + Water
200 + 0300 —— oo + A

(2) Acid + Salt —— Basge + Water

sdo + edno —— o + b

(3] Acid + Base— Salt + Water
&L0 + o ——» vimo + D

(4) Base+ Water —— Acid + Salt
o + M — ebo + uimo

112. The colour of methyl orange indicator in HCJ

is
HCI &' 203& ecos 388,00 dord
(1) pink (2) colourless 3 yellow
b Sort dodlss S (4) blue
oo
113. The chemical name of plaster of Paris is
235 & 380 Qo) Sl o
(1) caleium sulphate monohydrate 12) calei
ci
habo adaﬁnra"::_-q_lﬁ 'w:r:d::lph ate
(3) caleium sulphate dihydrate () Citlciym sulph
Fﬂdhﬁﬁ-_'ﬁE‘:ﬂﬁ Phate ]ltrnih}'dr.ﬂ[c
200 3808 202, 1
SPACE FOR ROUGH W‘h -
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114. Electolvsic of amirmesio 5ot -t e
—=rEs ol SLEeCUs :\E.L:. S0lUtIon produces

=e o NaCla

-':—:L'-E-S H3n mam :a-_hg:, L.

L &, at cathode (2) O, at anode
= E < 11 e
:-_-l:lg..;:‘:‘—:t Hﬁ‘&:ﬁgﬂ:?iﬂﬂ;ﬂ
< 0, 2t cathode (4) Cl, at cathode
E
!‘E'.-:sgﬂ: g s5'E35 Cl, raivy

11S5. Which of the following is an example of acid?

2ot i wirdidndn

(1) Drv HCI (2) Aqueous HCI
23 HCI #e |orde HCI

(2) NaOH (4) NH,OH

116. The Quantum mecHanical model of atom was proposed by

e e ) s'snun drcbs t‘:ﬂlm-'l SE2EoudTrd
(1] Rutherford (2) Bohr (3) Schrodinger (4) Max Planck
ars5 35 &' Waorh Srdydnok

117. The correct order of energies for the electromagnetic spectrum is

e

565, § mctsmod 355006 # g0

(1} UV rays > [Rrays > Radio waves > X-rays
mm,mm: 34ar ddomen > X-3eren

{2) Radio waves > UV rays > X-rays > IR rays
22 Sbcrmen > s8ed'rd Vorw > X-Uorw > Soodo Sdore

(3) X-rays>UVrays> IR rays > Radio waves
X-2icre > 0Bed'rs Marw > 30060 Marw > 884 8dome

@) IR reys> X-rays> Ricio waves > UVisaya
oo > X-Worw > 85dr sdome > oblod'>ra doorw
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118. Which of the following set of quantum numbers is not correct?
Soss a3 0l 5500 oo Sdarted’ D 508

. ]
:1' n=2pf=|,mr=-lrm_1-_—+% EEI fl:z-l'=uumr:+1'm”=+§
B n=2,1=1m, =-l.m,='gl 4 n=21=0m =0, m, =J%
119. The possible [ values for a given n value are
Al n L8RS [Denden
(1) Oto{n-1 (2) Oton (3) 1ton (4) 1lto(n-1)

120. The rule which describes the electron distribution in degenerate orbitals of an atom is
SELrrPS'D 308 0Byere 6 JoigS eBBED BOS Hro

(1)

(3]

Aufbau principle, (2) Pauli exclusion principle

©9 Daldo 2D 383 Dabibo
=
Hund'’s rule {(4) Planck's theory
/ v [4,-3
A ;o2 KU )+q (B
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